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1_ What happens to the atomic number of an element which }
Decreases by | | Decreases by 2 | Stays the same | [ncrgafes by | emits one alpha particle? R
| 41956 (1756 +1656 )1856 Ly el )| g
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An electric current in conductors is due to the flow of:
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(Part-1 Jdil4daa )
Wriie short answers to any FIVE parts, k. & .:.yz;ﬁ"i.lz léka.&r(
g=10ms™* 2. 1 om Mt s iedinds @

Find time period of a simpie pendulum of 1.0m long where g = 10ms ™.

Define longitudinal waves. _gi—._éi /'*'J;g,Ji r-’gf (ii)
Define pitch. On what factor jt depends? ‘.'..;‘_t'yt_;Ji Q{L-"i Kt __.é;' - /Jsf é: (iii)
Define intensity. What is its SI unit? ?*al:"...'.r‘{' STk ,..;éz_g'/‘n’-;{gj:’él (iv)
Define ultrasound. y /U/ EHLA ()
Define electric current. Write its unit. & N !’;‘—_;yy’;..uf.f}?r (vi)
Peline Ohm. ,;.’-.'_gj‘{! Bl (vii)

e  PE S pdn e da RSN (i)

{Fthe diameter of a copper wire is 2 millimeter, then find its cross sectional area.

Write short answers to any FIVE parts. *Q@LR/‘!’Z;D’H@&&L!I
Staie laws of reflection of i ght, *Egdlwf:‘l;c': u’%g!u:u (i)
What is meant by farsightedness? f st e ,bg’ (if)
Define electrostatic induction. -§ ) /Tu(ﬂ I _@,}Ejl (1ii)
State Coulomb's law. : _"é s L':'S'__J:( (iv)
What is mica capacitor? fe L_f)'j{lri (v)
Whai is imeant by compact disk? el e L5 _',-E?/ (vi)
Define word processing. _é - j‘TJ_ﬁ:_z‘s{JJJ {vii)
Define hardware. : L= A7 (viii)
rite short answers to any FIVE parts. ..i@ Llﬁ}ﬁaﬁ.pleéag_éf
Describe the working principle of a DC motor. ey Wedr W Sl irsss ()
State Lenz's law. . -Eukutbed Gy
Whal is meant by thermionic emission? ) ‘.“?_;l/l;f'a, u%-"ii‘.ﬁ:‘,;' (1i1)
How are the electron defected by clectrid field? ?‘;Jndﬂ:' f@jJ ?:}?Jaﬁi_ ;jc’:jl__r:_!’}gl {iv)
NAND gate is reciprocal of AND gate, DisefiSs briefly. .._.é = Lol _a;_d)if.:.._-_rj.:r_f ..f,_f & (v)
What is meant by auclear trangpiutation. TlLJJ/'LJ/C.. Lfifu” I)f'f,-.é {vi)
Describe two properties ofgammaradiations. rgd!-'ah:v&"!"%’}{; .,/—"Ilélb:f {vii)
Write three isotopes ofidrogen. -éngﬁ.‘}:jﬂf&cﬂugg (viii}

¥1rf 09 Ly 2 feindctrne 3 (plg3 dias.
Part - I, Atempt any TWO questions. Each question carrics 09 marks,

_ﬁ.‘:.«?ujdl&g,j;(}/}{JJGLa,uJ_@LiJ ?EL.JI/'HUIL«_«E_:;LIJ (=it

-

What is meant by ripple tank? Explain refraction of water waves with the’l}a}p of ripple tank,

-,tf:-'(ri"‘..wl,?,ulﬁjgurgl -c"_I:;{.bGL/ZOcm.:-_ ««15cm EQJ}J&H_'{_I{)chENJ&({HP (..:.«)
An object 10cm high is placed at a distance of 20em from a concave lens of focal length 15cm.
Calculate the position and size of the image.

_L{:L@iiﬁiuf&'i:fﬂ&,f_&éugmrﬁIJJ"ﬁbg ()

Describe four safety measures that should be taken in connection with the house hold -:iijguit.
SAdiat s Vitze O8G0V e B Akt _e 6uF m 1opF ARl Jths ()
R e e R

‘Fwe capacitors of capacitances 6uF and 12uF are connected in serjos with 12V battery. Find the
equivalent capacitance of the combination. Also find the charge and potential difference across
each capacitor.

Differentiate between magnetic disc and hard disc. _g{;jﬁ,}uf_ﬁjbps!_ﬂéb@g ()
Write five hazards of radiations. *.;_’:g /e B égé: ?"ifd{-:; ()
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(Part-1  Jjladas)
Write short answers to any FIVE paris. E

e B a2k §F 2
g=10ms2 g i om QS e iy slehins” )

Find time period of a simple pendulum of 1.0m long where g =10ms 2.

Define longitudinal waves. -é i fg,(:;'u_fi;?g (i)
Define pitch. On what factor it depends? e b, JUN A58 Gin
Define intensity. What is its SI unit? Ce Uy S L3 ASEH v
Define ultrasound. .,.;‘:_{ i /;L;J:ilflﬂl )
Define electric current, Write its unit. el LR ?'LJL{'“LILJ;fJ;-GI (vi)
Definc Ohm. “E AR (i)

E PSS i

If the diameter of a copper wire is 2 millimeter, then find its cross sectional area,
Write short answers to any FIVE parts.
Stale laws of reflection of light.

6/ (i)

Wl Z lé&:—df =
OG5 o
el Ve YA (i)

Define clectrostatic induction, o ..._-f_f bg}{fﬁl..@ﬁ}gl (iii)
State Coulomb's law. 0 _g'.-.fuk;_-.lili'f _Jf (iv)

What is meant by farsightedness?

What is mica capacitor? S\ 0 v)
Whai is meant by compact disk? & ‘f.rls_,}lj-'i_.;(:__l:i-bgr (vi)
Define word processing. PS 6 N fJ..ﬁn{ i (vii)
Define hardware,

\ ' ZE A0 (vili)
“Write short answers to any FIVE parts, * - atlﬁ'jﬁﬁp!}ﬂéh—_’.é}( - |

v
Describe the working principle of a DC motor. -c_;‘,fu_.lad:‘ﬂi'é_/?fﬁi:’u'd oo
State Lenz's law.

~EokoITER G

What is meant by thermionic emission? Sl e A F (il
Flow are the electron deflected elld, ‘.‘;..and_— u"‘goj(fj:}'.al¢;j£jy_{}gr (ivi
MNAND gate is reciprocal of A & Discuss briefly. _5“;: ol & _:.':...*J!E’J_ﬂf Al e..*..;f % (M
What is meant by nucl 5 ion. ‘.‘.LJJ/Lfr_. J-';c'uj Ff/'::.‘.;:' (vi)
Describe two propertiés of gamma radiations, '..{dk‘-"—-&""%JJﬂJéJl{f (vii)
Wrile three isoto, hydrogen. _.:é'{fuﬁ:; Tpfﬁgﬁuéﬂ. (viii)

it 09 Ly 2 feliz e tysse 3 (pdga dias.

Part - I, Attempt any TWO questions. Each question carries 09 marks,
_g‘idmu:Juigjaﬁf;JﬁgauJb@Q; Td::..slfgc.....@q,'.: () s

What is meant by ripple tank? Explain refraction of water waves with the help of ripple tank.

qf_gr.rL".:«fL-”mqungﬂ:l ..q_.lj;;J-’liZ_ZiJcmL rq.lScmE@J;'JJ’-)? 'ai:_!t}cmél{.-lgfu"-’({-g ()

An object 10cm high is placed at a distance of 20cm from a concave lens of focal length 15cm.
Calculate the position and size of the image.

..L,ﬁ'd"_@i.ﬁ;dﬁﬁd&“ﬁéukﬁ.uﬁluw@:k () 6

Describe four safety measures that should be taken in connection with the house hold circuit.
Uiz ceVitne G4S8 12V e &by I -6 6uF i 12pF s F s s -,
Uy st o e

Twe capacitors of capacitances 6uF and 12)F are connected in series with 12V battery, Find the

equivalent capacitance of the combination. Also find the charge and potential difference across
each capacitor.

Differentiate between magnetic disc and hard disc. _5_-’,{; fﬁ)uf L 3;{.»!._1./»5_@;' (D N7
Write five hazards of radiations. Y /@Wéé L8k, ()
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